3.5 Unit Prices

1. Fill in the table below.

	Item
	Sold As
	Unit Price

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	


2. A 1.5-L container of yogurt sells for $4.99.  A smaller 500mL container sells for $3.89.

a) Calculate the unit price, per litre, for each bottle.


1 L = 1000 mL

1.5 L container _________________________

500 mL container ______________________

b) Which gives you more for your money?
c) Explain how you might be able to determine the better buy without calculating the unit prices.

d) Give 2 reasons why someone would knowingly purchase an item that has a higher unit price.

3. Calculate the unit price for each item. Select what you think would be your most likely purchases.

	Product
	Options
	Unit Price
	Your Choice

	Pop
	12 – 500 mL cans for $4.50
	____________¢/bottle
	

	
	24 – 500 mL cans for $6.99
	____________¢/bottle
	

	
	2 – 500mL cans for $1.99
	____________¢/bottle
	

	Tea
	100 bags for $4.99
	$____________/bag


	

	
	24 bags for $2.99
	$____________/bag


	

	
	250 bags for $6.50
	$____________/bag


	

	Orange juice
	1 L for $3.99


	$ _____________/L
	

	
	500 mL for $2.9
	$ _____________/L


	

	
	2L for $4.50
	$ _____________/L


	


4. a) At COSTCO, a box of 50, 300g bags of chips sells for $7.99.  Calculate the unit price.

b) A 300g bag of chips sells for $1.25 in the vending machine.  The price of this bag of chips is ______ times the unit price of the same bag of chips sold at COSTCO.

c) If you purchase 1 bag per day from the vending machine for 50 days, how much would you spend for 50 bags of chips?

d) Calculate the difference between the 50  bags of chips at COSTCO and the vending machine.

e) Why would someone knowingly pay a higher price for the same item?

5. Suppose you spend $9.78 at a store and you want the cashier to give you just one quarter back in change, how much would you have to give him?

6. a) List two different amounts that you might give a cashier if your bill totals $18.77.

b) With which amount are likely to get back fewer coins in change?

